t :).. 0 = t "IIMN I y ( g_}) = F - ATV D0 2 AT RO W00 N0 TN A Et; T 7Y |0

T30 T A0 T 1 1120 MIITON MW 2300 T 71 I 1N ND1 TN V I RE
\ M
‘ lim A(?)
L — 00
A
lim 248
t —ooA(t)
0 A
t—0tAE)
t
t
Ay = fe *dx = —[e™™* 0 = —let—1] = 1-et
0
gimA(t) = %im(l —eH = 1-0 =1
t
/4 t T
Vi = nf e *dx = -5 [e~2* 0 " [e"2t—1] = E(l — e 2t
0
T o T T
gifg, V(t) = Elgg}(l —e ) = E (1 - 0) = E
, T
lim 2© limV, Z n
im = = £ = —
t—oo A(t) %i?g;l A(t) 1 2
= — t — —
}L‘Jl"‘(t) = luq(l—e ) = 1-1) = 0
li — n 1 -2t — n —
tll(}'l"v(t) = Etlnl(l_e ) = 5(1—1) 0
limV limV, T . 2lim(e™?)
lim V(t) — t—0*t ® — [9 — t—0t ® — 2 t—0*t — m-1 = 1T
e e 100 A e !



